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HSC 2001 - Biology
Band 5/6 - Sample 2

Questions 25-28
2001 HIGHER SCHOOL CERTIFICATE EXAMINATION
Biology
Section I - Part B (continued)
Marks
Question 25 (3 marks)
Antibiotics are drugs widely used in most industrialised societies. They are used to 3

treat bacterial infections, are added to animal feed, and have been included in plastic
products such as sandwich bags.

Explain TWO possible effects of this widespread use of antibiotics on the likely
spread of disease in the future.
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Question 26 (3 marks)

When a body organ is transplanted from one person to another, the immune system of
the recipient is triggered.

(a) Patients who have an organ transplant are given drugs to suppress their immune 1
response. State the reason for this.
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(b) Explain a possible consequence for the general health of organ transplant 2
patients as a result of suppressing the immune system. R b oo s - Hea
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Marks
Question 27 (4 marks)

Epidemiological studies have demonstrated a relationship between ultraviolet 4
radiation exposure and the development of melanoma, a type of skin cancer.

The graph shows the rate of occurrence of melanoma in males and females between
1972 and 1997. o

Age-standardised incidence of melanoma, NSW
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A student studying the graph made the following statement.

‘“The incidence of melanoma will continue to increase beyond 1997 at a
greater rate in males than i es.’

Analyse the data in the graph to assess the validity of this statement.
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Question 28 (8 marks) 20

Evaluate the impact of major advances in scientific understanding and technology,
in the field of genetics, on developments in reproductive technologies.
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